Math 096 - Quiz 6 Name k ey
March 29, 2017 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (2 points) The triangles shown here are clearly not congruent. Why doesn’t the AAS
congruence property apply?
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2. (3 points) Is the following information sufficient to justify AJKM = ANPQ? Justify
- your answer.
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3. (3 poirﬁ The figure shown below is called a kite. In the figure, AC = BC and
AD = BD. Carefully explain how we can be sure that AACD = ABCD.
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4. (2 points) Circle all that are triangle congruence properties.

AAA, ass, (sAs,) ssA, (8s8)



